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PiecewiseFunction for No.9594

2 K x < -1
NoOlz[zx_2 ' x<-2}, ,NoO2=| 1—-x ,; -1 <x<1
x+2 ; x> -2
2x-3 ; x> 1
NoO3=[a=-3,b=-1,c=0,d=1,e=3]
NoO4=[a=-4,b=-3,c=-1,d=2,e=4]
NoOS=[a=-4,B=-3,y=1,0=5,e=12]
8
6
&
S
T\
S
10 8 5 4 2 0 2 4 6 8

A

&

N

X [Page = 0001] XXXXXXXXXXXXXXXXXXXXXXXKXKXXXXXKXXXXKKKXKXXXKKKXXXXKXKXXXKKKKXXKK




):0:0.9:9:9.9.9,9:9.0.9.9.9.9.9,9:0.:0.9.9.9.9,9.9:0.0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0.0.0.9.9.9.9,9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:0:0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXXXKXXXKXXXXXXKXXXXXXXM6/1-6700501-00002XX
PiecewiseFunction for No.9608

IV < x-4 ; x<=-2
NoOIz[x o } No02=|-2x+4 : -2 <x<2
2x+3 ; x>=2
0 K x> 2
NoO3=[a=-1,b=0,c=2,d=3,e=4]
NoO4=[a=-3,b=-2,c=-1,d=1,e=3]
NoOS=[a=-7,B=-2,y=2,0=5,e=10]
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X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXM6/1-6700501-00003XX
PiecewiseFunction for No.9646

Y y—0 =3 4 K x < -]
NoO]:[ N o } No02=| 3—x ; -1 <x<3
2-x ; x> -3
2x+1 x> 3
NoO3=[a=-4,b=-1,c=1,d=2,e=3]
NoO4=[a=-2,b=-1,c=1,d=2,e=3]
No0OS=[a=-11,8=-9,y=1,5=5,¢=8]
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXXXXXM6/1-6700501-00004XX
PiecewiseFunction for No.9649

o1 <3 x+1 K x< -3
NoO]z[ )i4 | x>: 3}, , No02 = -2 ;-3 <x<3
o oo 2x-2 ; x>3
NoO3=[a=-4,b=-3,c=-2,d=-1,e=0]
NoO4=[a=-3,b=-2,c=-1,d=1,e=4]
NoO5=[a=-9,3=-8,y=-5,0=-4,e=5]
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X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXKXXXKXXXXXXXM6/1-6700501-00005XX
PiecewiseFunction for No.9669

x+d - < 2x+3 x< -2
N001=[ x CorT T }, ,NoO2=| 3—x ; -2<=x<1
2x-3 ; x>= -]
2 ; x> 1

NoO3=[a=-4,b=-3,c=-2,d=1,e=2]
NoO4=[a=-2,b=-1,c=0,d=1,e=2]
No0O5=[a=-10,=-8,y=-7,0=3,e=9]
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PiecewiseFunction for No.9717

I < ] x—-4 x< -3
N001=[ PP J, No02=| -7 ; -3<=x<=3
o 2x-4 ;  x>3
NoO3=[a=-2,b=-1,c=0,d=1,e=3]
NoO4=[a=-4,b=-2,c=-1,d=1,e=3]
NoO5=[a=-11,3=-7,y=-6,0=-4,e=12]
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X Math@MUT XXXXXXXXXXXXXKXXXKXXXXXXXXXXXXXXXKXXXKXXXKXXXXXXXM6/1-6700501-00007XX
PiecewiseFunction for No.9763

Y x4 - = -x+95 x<=-]
NoOI:[ . oY }  No02=|2x+1 ; -1 <x<3
—1-x ; x> -2
7 K x>=3

NoO3=[a=-1,b=0,c=1,d=2,e=4]
NoO4=[a=-4,b=-3,c=-2,d=0,e=3]
NoO5=[a=2,=5,y=7,0=9,e=12]
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXXXXM6/1-6700501-00008XX
PiecewiseFunction for No.9877

Y r—1 - < 3 2x—-1 x< -1
N001=[x borT } No02=| 0 ; -I<=x<3
S-x ; x>= -3
3—x x> 3

NoO3=[a=-4,b=-3,c=-2,d=0,e=2]
NoO4=[a=-4,b=-2,c=-1,d=0,e=1]
NoOS=[a=-11,=-4,y=3,06=7,e=10]
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PiecewiseFunction for No.9911

3_ . < ] 2x+5 x<=-]

N001=[ S } No02=| -1 ; -1 <x<2
2x+5 ; x>=1

1—-x x>=2

NoO3=[a=-4,b=-3,c=0,d=1,e=2]
NoO4=[a=-4,b=-3,c=1,d=2,e=4]
NoOS=[a=-12,=-11,y=-10,8=-7,e =-2]
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X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXKXXXXXXXXXXM6/1-6700501-00010XX
PiecewiseFunction for No.10027

5_ ' < 3 -2x+5 x< -3
No()]:[ ol } No02=| 3 ; 3<x<=1
2x-5 ; x> 3
x—4 x> 1

NoO3=[a=-4,b=-1,c=0,d=1,e=4]
NoO4=[a=-2,b=-1,¢=0,d=2,e=3]
NoOS=[a=-11,=-8,y=-6,0=5,e=11]
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X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXXXXKXXXXXXXM6/1-6700501-00011XX
PiecewiseFunction for No.10063

2x+2 ¢ x< 2 s xe
NoOI:[ o oo } No02=|2x-4 ; -3<=x<=3
+1 ;ox>= -2
-x+5 x> 3
NoO3=[a=-4,b=-1,c=0,d=2,e=3]
NoO4=[a=-2,b=-1,c=0,d=1,e=3]
NoOS=[a=-4,B=-2,y=5,0=7,e=10]
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXXXXM6/1-6700501-00012XX
PiecewiseFunction for No.10120

45 < ] x+3 K x<=-2
NoO]z[x o }  No02=|-2x-3 ; 2 <x<2
2x+1 ; x> 1
-7 K x> 2
NoO3=[a=-3,b=0,c=1,d=2,e=3]
NoO4=[a=-3,b=0,c=1,d=2,e=3]
NoO5=[a=-9,3=-7,y=-4,0=T,e=11]
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXXXXM6/1-6700501-00013XX
PiecewiseFunction for No.10367

o4 < 2x+4 x < -1
NoO]:[ TR A }  No02=| 1 ; -I<=x<3
x—2 ;o ox>= -]
—x+4 x> 3
NoO3=[a=-3,b=-2,c=-1,d=2,e=4]
NoO4=[a=-4,b=-3,c=1,d=2,e=4]
NoOS=[a=-12,B=-11,y=5,8=8,e=9]
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X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXXXXKXXXXXXXM6/1-6700501-00014XX
PiecewiseFunction for No.10372

5 ‘ < 3 2x+4 ; x< -3
NoOI:[ Yoo X }  No02=| x+4 ; -3 <x<2
2x+3 ; x>= -3
6 K x> 2
NoO3=[a=-3,b=-2,c=-1,d=1,e=3]
NoO4=[a=-4,b=-3,c=1,d=2,e=4]
NoO5=[o=-9,B=-7,y=-3,8=1,e=10]
8
6
/
S
-10 8 6 4 2 0 2 4 6 8
=4
P
J

X [Page = 0014] XXXXXXXXXXXXXXXXXXXXXXXKXXXXKXKXXXXKKKXKXXXKKKXXXXKXKXXXKKKKXKXKX




):0:0.9:9:9.9.9,9:9.0.9.9.9.9.9,9:0.:0.9.9.9.9,9.9:0.0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0.0.0.9.9.9.9,9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:0:0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXXXXXXXXXXXM6/1-6700501-00015XX
PiecewiseFunction for No.10375

2x-3 ; x<=2 oo x=d
NoO]:[ o o }  No02=|-—x+4 ; -3<=x<2
x—5 x> 2
2x-2 x>=2
NoO3=[a=-3,b=-2,c=-1,d=3,e=4]
NoO4=[a=-2,b=1,c=2,d=3,e=4]
NoO5=[o=-10,B=-6,y=3,8=7,c=12]
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXXXM6/1-6700501-0001 6XX
PiecewiseFunction for No.10426

- . =3 3—x x <=-]
NoOI:[ oA } No02=|2x-3 ; -1 <x<3
2x+1 ; x> 3
3 K x> 3
NoO3=[a=-4,b=-3,c=-2,d=2,e=3]
NoO4=[a=-4,b=-3,c=-1,d=1,e=4]
NoO5=[a=-12,B=-7,y=1,8=2,£=10]
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXXXXM6/1-6700501-00017XX
PiecewiseFunction for No.10628

Y vl - x< 2x-4 ; x<=-3
N001=[ N o }  No02=| x-5 ; -3 <x<=1I
2-x ; x> -1
-4 K x> 1

NoO3=[a=-2,b=-1,c=0,d=1,e=2]
NoO4=[a=-3,b=-2,¢c=0,d=2,e=3]
NoOS=[a=-11,=-9,y=-5,0=9,e=11]
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXXXXXXXM6/1-6700501-00018XX
PiecewiseFunction for No.11408

4 ' < 3 0 K x <=-]
NoO]:[x o }  No02=| x+1 ; -1 <x<=1
-2x-5 ; x> -3
2x-1 ; x> 1
NoO3=[a=-4,b=-2,c=-1,d=1,e=4]
NoO4=[a=-3,b=-1,c=0,d=3,e=4]
NoOS=[a=-9,B=-4,y=-3,0=3,e=7]
8
PR
A\
6
A oy
/J
2
10 8 I 4 2 0 2 4 6 8

he

A

&

X [Page = 0018] XXXXXXXXXXXXXXXXXXXXXXXKXXXXKXKXXXXKKXKXXXKKKXXXXKXKXXXKKKXKXXKK




):0:0.9:9:9.9.9,9:9.0.9.9.9.9.9,9:0.:0.9.9.9.9,9.9:0.0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0.0.0.9.9.9.9,9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:0:0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXXXXXXXXXXXM6/1-6700501-00019XX
PiecewiseFunction for No.11560

3_ ‘ ey 3—x x< -2
NoOlz[ v } No02=| 5 ; 2<=x<2
2x-1 ; x> 1
2x+2 x> 2

NoO3=[a=-4,b=-3,c=-2,d=-1,e=0]
NoO4=[a=-3,b=-2,c=-1,d=2,e=3]
NoO5S=[a=-12,=-10,y=-7,0=5,e=9]
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXXXXXXM6/1-6700501-00020XX
PiecewiseFunction for No.11806

1 ) < 5 K x< -2
NoO]:[x o } No02=|-2x+1 ; -2 <x<=1
2x+4 ; x> -2
x—4 K x> ]

NoO3=[a=-3,b=-2,c=-1,d=1,e=2]
NoO4=[a=-4,b=-3,c=-2,d=2,e=4]
NoO5=[a=-10,f=-6,y=7,0=11,e=12]
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PiecewiseFunction for No.12219

s d < 3 2x+4 x<=-2
NoO]:[x CorT }  No02=| x+2 ; -2<x<=3
2x+1 ; x>= -3
5 K x> 3
NoO3=[a=-3,b=-1,c=1,d=2,e=3]
NoO4=[a=-3,b=-2,c=-1,d=1,e=3]
NoO5=[o=-12,B=-10,y=1,5=3,£=8]
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PiecewiseFunction for No.12954

4 ‘ < 3 2x+4 x<=-3

NoOlz[ Yoo Ae } No02=|-5-x : -3<x<2
2x-3 ; x>= -3

-7 K x>=2

NoO3=[a=-4,b=-2,c=0,d=2,e=3]
NoO4=[a=-4,b=-3,c=0,d=2,e=4]
NoOS=[a=-8,B=-3,y=2,0=7,e=10]
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PiecewiseFunction for No.12964

o ) <3 -7 K x< -2
NoO]:[ v }  No02=|2x-3 ; -2<=x<3
2x+3 ; x>=3
-x+5 x> 3
NoO3=[a=-4,b=-1,c=1,d=3,e=4]
NoO4=[a=-3,b=-2,c=0,d=1,e=4]
NoO5=[a=-9,3=-6,y=3,0=10,e=11]
8
6 q‘/
A oy
“* v
2
S
10 8 I 4 2 0 2 4 6 8

A

&

X [Page = 0023] XXXXXXXXXXXXXXXXXXXXXXXKXKXXXKXXKXXXXKKKXKXXXKKKXXXXKXKXXXKKKKXXKK




):0:0.9:9:9.9.9,9:9.0.9.9.9.9.9,9:0.:0.9.9.9.9,9.9:0.0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0.0.0.9.9.9.9,9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:0:0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXKXXXXXXXXXXM6/1-6700501-00024XX
PiecewiseFunction for No.12971

2x42 ; x< 2 L x<2
NoOI:[x corT } No02=| x+1 ; 2<=x<=1I
-x+4 ; x>=-2
2x+1 ; x> 1
NoO3=[a=-4,b=-1,c=0,d=2,e=3]
NoO4=[a=-4,b=-3,c=1,d=2,e=3]
NoO5=[o=-12,B=-6,7=1,8=2,8=3]
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PiecewiseFunction for No.13023

23 . < 2x+3 x<=-2
NoO]:[x oo } No02=| 4 ;. 2<x<1
2x-=-5 ; x>=2
x+3 K x>=1
NoO3=[a=-3,b=-2,c=-1,d=1,e=2]
NoO4=[a=-3,b=-1,¢=0,d=2,e=3]
NoOS=[a=-7,p=-4,y=8,0=9,e=11]
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PiecewiseFunction for No.13033

v+l - < 2x+5 x< -3
N001=[ X oo }, ,NoO2=|-4—-x ; -3<=x<1
-1-x ; x>= -2
-5 ; x>=]

NoO3=[a=-4,b=-2,c=0,d=1,e=3]
NoO4=[a=-4,b=-3,c=-1,d=1,e=4]
NoOS=[a=-7,3=-3,y=5,0=9,e=11]
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PiecewiseFunction for No.13197

4 _ < -2 K x < -1

NoO]:[ SO } No02=|-2x—-4 ; -1 <x< 1
2x=-2 ; x>= -]

x+4 K x>=1

NoO3=[a=-3,b=-2,c=-1,d=2,e=3]
NoO4=[a=-2,b=-1,¢=0,d=2,e=3]
NoOS=[a=-9,B=-7,y=3,0=5,e=12]
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PiecewiseFunction for No.13907

o _ — 2 K x <=-]
NoOI:[ vl } No02=| 1-x ; -1 <x<3
2x+3 ; x> 1
2x—-1 x> 3
NoO3=[a=-2,b=-1,c=0,d=2,e=3]
NoO4=[a=-3,b=-2,c=-1,d=1,e=2]
NoO5=[a=-9,=-8,y=-6,0=-4,e=1]
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PiecewiseFunction for No.13991

Dx+4 ; x< 3 o e

NoO]:[ . o }  No02=|-2x-5 ; 2 <x<3
x+2 ;s ox> 3

x+2 K x> 3

NoO3=[a=-3,b=-2,c=-1,d=1,e=3]
NoO4=[a=-4,b=-3,c=-1,d=1,e=4]
NoO5=[a=-9,=-7,y=3,0=10,e=11]
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PiecewiseFunction for No.14005

o4 < x-4 ; x<=-3
No()]:[ Y o }  No02=|-2x+2 ; -3 <x<3
x—5 ;ox>= 2
-4 ; x>=3
NoO3=[a=-4,b=-2,c=0,d=2,e=3]
NoO4=[a=-2,b=-1,c=1,d=2,e=3]
NoOS=[a=-8,B=-3,y=8,0=10,e=12]
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PiecewiseFunction for No.14157

2x-1 x <=-2

NoOIz[zx_z ' x<'3},  No02=| -5 . 2<x<2
3—-x ; x> -3
—x+2 x>=2
NoO3=[a=-4,b=-3,c=-2,d=0,e=2]
NoO4=[a=-3,b=0,c=1,d=2,e=3]
NoO5=[o=-12,B=-10,y=-7,56=2,e=11]
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